Question: - | the angle between the straight lines
joining foci and the ends of the minor axis of the

XZ yl
ellipse —-+ <=1, is 90°. Find its eccentricity.

a° b
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Sol. The equation of the ellipse is — + F =1
a
Leta>b

B(0.b)

AT @0l @eos A

B8'(0,-b)

. The ends of minor axis are B (0, b) and B’ (0, — b). If the
eccentricity of the ellipse is e, then the foci are S (ae, 0) and
5’ (—ae, 0)

Slope of BS is m, =ﬂ=-_b_
0—ae ae
and slope of BS"is m, = el 8
O+ae ae
' The angle between BS and BS’ is 90°,
= - -b— X -2- =-1
ae ae
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